Monday

Addition
a.	2    3	1	7	b.	1    9	9	6

	
	9
	5
	5
	
	 6 
	0
	8
	3

	+
	3
	1
	8
	7
	+
	1
	3
	2
	2


	


c.	6   9	7	8	d.	1   9	0  8	e.	2   8	5  4	f.	3   2	3	1

	
	2
	2
	0
	
	5
	0
	9
	8
	
	8
	7
	8
	5
	
	
	5
	9

	+
	
	5
	2
	+
	5
	1
	0
	9
	+
	2
	8
	2
	6
	+
	8
	8
	0


			


g.	2	6	h.	5   0	9	6	i.	     1   3	9  0	j.	    9   9	9	9

	
	5
	5
	3
	
	5
	6
	5
	
	8
	5
	5
	0
	
	8
	8
	8
	8

	+ 4
	4
	3
	5
	+
	9  1
	4
	5
	+
	
	3
	0
	0
	+
	
	9
	9
	9


			



Tuesday
Addition





a.	7   4	4	7	b.	3   9	8	6
+  2  9	8	7	+  3   9	2	0




c.	6   9	7	8	d.	2   4	0  8	e.	5   8	7  6	f.	6   2	6	1
+	8	7	+  5   7	3  9	+  2   3	8  7	+	9	8	0




g.	4	6	h.	5   0	9	6	i.	     1  8	9  8	j.	  1    6	9	8
+  9   4	8	5	+  9  1	4	5	+	    7 	3  7	+	   5	6	7



	 


Wednesday
Subtraction



a.	5	0	7	b.	4	8	3
-	2	9	4	-	1	2	7




c.	9	2	0	d.	3	7	8	e.	5	1	7	f.	8	3	7
-	5	0	-	2	5	9	-	1	0	8	-	4	7




g.	6	1	1	h.	7	4	7	i.	6	8	0	j.	9	0	6
-	5	4	0	-	3	9	4	-  2	1	5	-  2	4	1






Thursday
Subtraction



a.	6   3	9	7	b.	3   8	8	0
-	2   9	7	6	-	2   9	2	6




c.	5   7	6	7	d.	9   4	0  3	e.	4   8	7  6	f.	8   1	7	2
-	1	5	8	-	5   1	3  3	-	1  3	8  2	-	9	6	3





g.	7   6	7	6	h.	8   0	7	4	i.	1    2	3  4	j.	5    5	5	5
-	5   8	5	8	-	4   5	0	8	-	5	1  8	-	2	9	5





Friday
Word Problems.
1. Louis traveled 2 795km on an airplane from Los Angeles to New York City. Then he switched planes and traveled 3 460 km to London. After that, he switched planes again and traveled 889 km from London to Rome. How many km did he fly in all?

2. A scuba diver finds a treasure chest in the ocean. When she opens it up, she discovers that it is filled with 3 567 gold coins and 1 793 silver coins. How many coins does the chest contain in all?

3. The treasure chest also contains pearls! There are 1 356 white pearls and 562 black pearls. How many pearls are there altogether?

4. Liz works at a pet store. She put 238 bags of cat food on the shelf. Customers bought 142 bags. How many bags were left?



5. Brett also works at the pet store. He put 418 dog toys on the shelves. Soon, there were only 209 left. How many dog toys did customers buy?

6. There are 3 420 students at Oak Tree Elementary School. 1 911 students are girls. How many are boys?

7. There are 1 293 grade fives are at Oak Tree Elementary School. On Monday, 134 of them were absent. How many grade fives were in school on Monday?







[bookmark: _GoBack]
Monday

Addition

a.2,  3	1	7	b.
1,
9
9
6


9
5
5


6,
0
8
3
+
3,
1
8
7

+
1,
3
2
2

6
4
5
9


9
4
0
1











c.	6,  9	7	8	d.	1,  9	0  8	e.	2,  8	5  4	f.	3,  2	3	1

	
	2
	2
	0
	
	
	5,
	0
	9
	8
	
	
	8,
	7
	8
	5
	
	
	
	
	5
	9

	+
	
	
	5
	2
	
	+
	5,
	1
	0
	9
	
	+
	2,
	8
	2
	6
	
	+
	
	8
	8
	0

	
	7
	2
	5
	0
	
	1
	2
	1
	1
	5
	
	1
	4
	4
	6
	5
	
	
	4
	1
	7
	0




g.	2	6	h.	5,  0	9	6	i.	       1,  3	9  0	j.	         9,  9	9	9

	
	5
	5
	3
	
	
	
	5
	6
	5
	
	8,
	5
	5
	0
	
	8,
	8
	8
	8

	+
	4,
	4
	3
	5
	
	+
	9,
	1
	4
	5
	+
	
	3
	0
	0
	+
	
	9
	9
	9

	
	5
	0
	1
	4
	
	1
	4
	8
	0
	6
	 1
	0   
	2
	4
	0
	 1
	9
	8
	8
	6




	


Tuesday
Addition



a.	7,  4	4	7	b.	3,  9	8	6

	+
	2,
	9
	8
	7
	
	+
	3,
	9
	2
	0

	1
	0
	4
	3
	4
	
	
	7
	9
	0
	6


c.	6,  9	7	8	d.	2,  4	0  8	e.	5,  8	7  6	f.	6,  2	6	1

	+
	8
	7
	
	+
	5,
	7
	3
	9
	
	+
	2,
	3
	8
	7
	
	+
	
	9	8
	0

	7
	0	6
	5
	
	
	8
	1
	4
	7
	
	
	8
	2
	6
	3
	
	
	7
	2	4
	1




g.	4	6	h.	5,  0	9	6	i.	$ 1,  8	9  8	j.	$ 1,  6	9	8

	+
	9,
	4
	8
	5
	
	+
	9,
	1
	4
	5
	
	+	$ 7
	3
	7
	
	+	$ 5
	6
	7

	
	9
	5
	3
	1
	
	1
	4
	2
	4
	1
	
	 2 6
	3
	5
	
	 2  2
	6
	5




	







Wednesday
Subtraction


a.	5	0	7	b.	4	8	3

	-
	2
	9
	4
	
	-
	1
	2
	7

	
	2
	1
	3
	
	
	3
	5
	6




c.	9	2	0	d.	3	7	8	e.	5	1	7	f.	8	3	7

	-
	5
	0
	
	-
	2
	5
	9
	
	-
	1
	0
	8
	
	-
	
	4	7

	
	8	7
	0
	
	
	1
	1
	9
	
	
	4
	0
	9
	
	
	7
	9	0




g.	6	1	1	h.	7	4	7	i.	6	8	0	j.	9	0	6

	-
	5
	4
	0
	
	-
	3
	9
	4
	
	-
	2
	1
	5
	
	-
	2
	4
	1

	
	
	7
	1
	
	
	3
	5
	3
	
	
	4
	6
	5
	
	
	6
	6
	5




	


Thursday
Subtraction


a.	6,  3	9	7	b.	3,  8	8	0

	-
	2,
	9
	7
	6
	
	-
	2,
	9
	2
	6

	
	3
	4
	2
	1
	
	
	
	9
	5
	4



c.	5,  7	6	7	d.	9,  4	0  3	e.	4,  8	7  6	f.	8,  1	7	2

	-
	1
	5
	8
	
	-
	5,
	1
	3
	3
	
	-
	1,
	3
	8
	2
	
	-
	
	9	6
	3

	
	5  6
	0
	9
	
	
	4
	2
	7
	0
	
	
	3
	4
	9
	4
	
	
	7
	2	0
	9




g.	7,  6	7	6	h.	8,  0	7	4	i.	1,  2	3  4	j.	5,  5	5	5

	-
	5,
	8
	5
	8
	
	-
	4,
	5
	0
	8
	
	-
	5
	1
	8
	
	-
	2
	9
	5

	
	1
	8
	1
	8
	
	
	3
	5
	6
	6
	
	
	7
	1
	6
	
	
	5 2
	6
	0








Friday
Word Problems.
1. Louis traveled 2 795km on an airplane from Los Angeles to New York City. Then he switched planes and traveled 3 460 km to London. After that, he switched planes again and traveled 889 km from London to Rome. How many km did he fly in all?
7 144 km

2. A scuba diver finds a treasure chest in the ocean. When she opens it up, she discovers that it is filled with 3 567 gold coins and 1 793 silver coins. How many coins does the chest contain in all?
5 360 coins

3. The treasure chest also contains pearls! There are 1 356 white pearls and 562 black pearls. How many pearls are there altogether?
1 918 pearls

4. Liz works at a pet store. She put 238 bags of cat food on the shelf. Customers bought 142 bags. How many bags were left?
96 bags

5. Brett also works at the pet store. He put 418 dog toys on the shelves. Soon, there were only 209 left. How many dog toys did customers buy?
209 dog toys

6. There are 3 420 students at Oak Tree Elementary School. 1 911 students are girls. How many are boys?
1,509 are boys.
7. There are 1 293 grade fives are at Oak Tree Elementary School. On Monday, 134 of them were absent. How many grade fives were in school on Monday?
1 159 Grade 5’s
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